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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742713631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742753101. 1
22742753102. 2
22742753103. 3

22742753104. 4



Question Number : 2 Question Id : 22742713632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742753105. 1

22742753106. 2

22742753107. 3

22742753108. 4

Question Number : 3 Question Id : 22742713633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427531009. 1
22742753110. 2
22742753111.3

22742753112. 4



Question Number : 4 Question Id : 22742713634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742753113. 1
22742753114. 2
22742753115.3

22742753116. 4

Question Number : 5 Question Id : 22742713635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742753117. 1
22742753118. 2
22742753119. 3

22742753120. 4



Question Id : 22742713630 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742713631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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442000

Options:



22742753101.1
22742753102. 2
22742753103. 3

22742753104. 4

Question Number : 2 Question Id : 22742713632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753105. 1

22742753106. 2

22742753107. 3

22742753108. 4

Question Number : 3 Question Id : 22742713633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753109.1



22742753110. 2
22742753111. 3

22742753112. 4

Question Number : 4 Question Id : 22742713634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753113. 1
22742753114. 2

22742753115. 3

22742753116. 4

Question Number : 5 Question Id : 22742713635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753118. 2
22742753119. 3

22742753120. 4

Sub-Section Number : 2
Sub-Section Id : 227427536
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742713636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742753121. 1
22742753122. 2
22742753123.3

22742753124. 4

Question Number : 6 Question Id : 22742713636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753121. 1
22742753122, 2
22742753123. 3

22742753124. 4

Question Number : 7 Question Id : 22742713637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742753125. 1
22742753126. 2
22742753127.3

22742753128. 4

Question Number : 7 Question Id : 22742713637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753125. 1
22742753126. 2
22742753127.3
22742753128. 4

Question Number : 8 Question Id : 22742713638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742753129. 1
22742753130. 2

22742753131. 3



22742753132. 4

Question Number : 8 Question Id : 22742713638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753129. 1
22742753130. 2
22742753131. 3

22742753132. 4

Question Number : 9 Question Id : 22742713639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

227427531331
22742753134. 2
22742753135.3
22742753136. 4

Question Number : 9 Question Id : 22742713639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753133. 1

22742753134. 2



22742753135. 3

22742753136. 4

Question Number : 10 Question Id : 22742713640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742753137. 1
22742753138. 2
22742753139.3

22742753140. 4

Question Number : 10 Question Id : 22742713640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753137. 1
22742753138. 2
22742753139. 3
22742753140. 4



Question Number : 11 Question Id : 22742713641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742753141.1
22742753142. 2
22742753143. 3

22742753144. 4

Question Number : 11 Question Id : 22742713641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753141. 1
22742753142. 2
22742753143.3

22742753144. 4



Question Number : 12 Question Id : 22742713642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742753145, 1
22742753146. 2
22742753147. 3

22742753148. 4

Question Number : 12 Question Id : 22742713642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753145. 1
22742753146. 2
22742753147.3

22742753148. 4

Question Number : 13 Question Id : 22742713643 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742753149. 1
22742753150. 2
22742753151. 3

22742753152. 4

Question Number : 13 Question Id : 22742713643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D.r=-0.37,p=003
e feu e fowedt 7 8 W IR

1 PadA R B

2 BATAIRC

3. Haq B AR D

4 BaaCIRD
Options :
22742753149. 1
22742753150. 2
22742753151, 3

22742753152. 4

Question Number : 14 Question Id : 22742713644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742753153. 1
22742753154, 2
22742753155.3

22742753156. 4



Question Number : 14 Question Id : 22742713644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753153. 1
22742753154. 2
22742753155. 3

22742753156. 4

Question Number : 15 Question Id : 22742713645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742753157. 1
22742753158. 2
22742753159. 3

22742753160. 4

Question Number : 15 Question Id : 22742713645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753157. 1
22742753158. 2
227427531509. 3

22742753160. 4

Question Number : 16 Question Id : 22742713646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742753161. 1
22742753162. 2
22742753163.3

22742753164. 4



Question Number : 16 Question Id : 22742713646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753161. 1
22742753162. 2
22742753163.3

22742753164. 4

Question Number : 17 Question Id : 22742713647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742753165. 1
22742753166. 2
22742753167. 3

22742753168. 4

Question Number : 17 Question Id : 22742713647 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753165. 1
22742753166. 2
22742753167.3

22742753168. 4

Question Number : 18 Question Id : 22742713648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742753169. 1



22742753170. 2
22742753171. 3
22742753172. 4

Question Number : 18 Question Id : 22742713648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753169. 1
22742753170. 2
22742753171.3

22742753172. 4

Question Number : 19 Question Id : 22742713649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427531731
22742753174. 2
22742753175.3
22742753176. 4

Question Number : 19 Question Id : 22742713649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742753173. 1

22742753174. 2



22742753175. 3
22742753176. 4

Question Number : 20 Question Id : 22742713650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear [l. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742753177. 1
22742753178. 2
22742753179. 3
22742753180. 4

Question Number : 20 Question Id : 22742713650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

227427531771
22742753178. 2
22742753179. 3

22742753180. 4

Question Number : 21 Question Id : 22742713651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742753181. 1
22742753182. 2
22742753183.3

22742753184. 4



Question Number : 21 Question Id : 22742713651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742753181. 1
22742753182. 2
22742753183. 3

22742753184. 4

Question Number : 22 Question Id : 22742713652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742753185. 1
22742753186. 2
22742753187. 3
22742753188. 4

Question Number : 22 Question Id : 22742713652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742753185. 1
22742753186. 2
22742753187.3
22742753188. 4

Question Number : 23 Question Id : 22742713653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742753189. 1
22742753190. 2
22742753191. 3

22742753192. 4

Question Number : 23 Question Id : 22742713653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742753189. 1
22742753190. 2
22742753191.3
22742753192. 4

Question Number : 24 Question Id : 22742713654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742753193. 1
22742753194. 2
22742753195. 3

22742753196. 4

Question Number : 24 Question Id : 22742713654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742753193. 1
22742753194, 2
22742753195. 3

22742753196. 4

Question Number : 25 Question Id : 22742713655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742753197. 1
22742753198. 2
22742753199. 3

22742753200. 4

Question Number : 25 Question Id : 22742713655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742753197. 1
22742753198. 2
22742753199. 3

22742753200. 4

Question Number : 26 Question Id : 22742713656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742753201. 1
22742753202. 2
22742753203. 3

22742753204. 4

Question Number : 26 Question Id : 22742713656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742753201. 1

22742753202. 2



22742753203. 3

22742753204. 4

Question Number : 27 Question Id : 22742713657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742753205. 1

22742753206. 2

22742753207. 3

22742753208. 4

Question Number : 27 Question Id : 22742713657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742753205. 1
22742753206. 2
22742753207. 3
22742753208. 4



Question Number : 28 Question Id : 22742713658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427532009. 1
22742753210. 2
22742753211. 3
22742753212. 4

Question Number : 28 Question Id : 22742713658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427532009. 1

22742753210. 2
22742753211. 3

22742753212. 4

Question Number : 29 Question Id : 22742713659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742753213. 1
22742753214. 2
22742753215.3

22742753216. 4

Question Number : 29 Question Id : 22742713659 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

227427532131
22742753214. 2
22742753215. 3

22742753216. 4

Question Number : 30 Question Id : 22742713660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742753217. 1
22742753218. 2
22742753219.3

22742753220. 4



Question Number : 30 Question Id : 22742713660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742753217. 1

22742753218. 2

22742753219. 3

22742753220. 4

Question Number : 31 Question Id : 22742713661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742753221. 1
22742753222.2



22742753223. 3

22742753224. 4

Question Number : 31 Question Id : 22742713661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742753221. 1
22742753222. 2
22742753223.3

22742753224. 4

Question Number : 32 Question Id : 22742713662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742753225. 1
22742753226. 2
22742753227. 3

22742753228. 4

Question Number : 32 Question Id : 22742713662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742753225. 1
22742753226. 2
227427532273

22742753228. 4

Question Number : 33 Question Id : 22742713663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742753229. 1
22742753230. 2
22742753231.3

22742753232. 4

Question Number : 33 Question Id : 22742713663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742753229. 1

22742753230. 2



22742753231.3
22742753232. 4

Question Number : 34 Question Id : 22742713664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742753233. 1
22742753234, 2
22742753235. 3

22742753236. 4

Question Number : 34 Question Id : 22742713664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

227427532331
22742753234. 2
22742753235. 3
22742753236. 4

Question Number : 35 Question Id : 22742713665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742753237. 1
22742753238. 2

22742753239. 3



22742753240. 4

Question Number : 35 Question Id : 22742713665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742753237.1
22742753238. 2
22742753239. 3

22742753240. 4

Question Number : 36 Question Id : 22742713666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742753241. 1
22742753242, 2
22742753243, 3

22742753244. 4

Question Number : 36 Question Id : 22742713666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742753241. 1
22742753242. 2
22742753243. 3

22742753244. 4

Question Number : 37 Question Id : 22742713667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742753245. 1
22742753246. 2
22742753247. 3

22742753248. 4

Question Number : 37 Question Id : 22742713667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e, Bl o P WG & R 399 Bl HeaqUl oiad a1 Tal ol U 5, dl 39 Rufd &1 341 @el oI 62
2 o i

4 Togurui]

Options :

22742753245. 1

22742753246. 2

22742753247. 3

22742753248. 4

Question Number : 38 Question Id : 22742713668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742753249. 1
22742753250. 2
22742753251. 3
22742753252. 4

Question Number : 38 Question Id : 22742713668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742753249. 1
22742753250. 2
22742753251.3

22742753252. 4

Question Number : 39 Question Id : 22742713669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742753253. 1
22742753254. 2
22742753255. 3

22742753256. 4

Question Number : 39 Question Id : 22742713669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753253, 1

22742753254, 2

22742753255. 3

22742753256. 4

Question Number : 40 Question Id : 22742713670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742753257. 1
22742753258. 2
22742753259. 3
22742753260. 4

Question Number : 40 Question Id : 22742713670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753257. 1
22742753258. 2
22742753259. 3
22742753260. 4

Question Number : 41 Question Id : 22742713671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742753261. 1
22742753262. 2
22742753263. 3

22742753264. 4

Question Number : 41 Question Id : 22742713671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753261. 1
22742753262. 2
22742753263.3

22742753264. 4

Question Number : 42 Question Id : 22742713672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India
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Options :

22742753265. 1
22742753266. 2
22742753267. 3

22742753268. 4

Question Number : 42 Question Id : 22742713672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753265. 1
22742753266. 2
22742753267.3

22742753268. 4

Question Number : 43 Question Id : 22742713673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742753269. 1
22742753270. 2
22742753271.3
22742753272. 4

Question Number : 43 Question Id : 22742713673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753269. 1
22742753270. 2
22742753271.3

22742753272. 4

Question Number : 44 Question Id : 22742713674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

227427532731
22742753274. 2
22742753275. 3
22742753276. 4

Question Number : 44 Question Id : 22742713674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753273. 1
22742753274 2
22742753275. 3

22742753276. 4

Question Number : 45 Question Id : 22742713675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742753277. 1
22742753278. 2
22742753279.3

22742753280. 4

Question Number : 45 Question Id : 22742713675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753277. 1



22742753278. 2
22742753279. 3

22742753280. 4

Sub-Section Number : 3
Sub-Section Id : 227427537
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713676 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742713677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742753281. 1
22742753282. 2
22742753283.3
22742753284. 4

Question Number : 47 Question Id : 22742713678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742753285. 1
22742753286. 2
22742753287.3
22742753288. 4



Question Number : 48 Question Id : 22742713679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L

F =N

Options :

22742753289. 1
22742753290. 2
22742753291.3
22742753292. 4

Question Number : 49 Question Id : 22742713680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742753293. 1



22742753294. 2
22742753295. 3

22742753296. 4

Question Number : 50 Question Id : 22742713681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true

[ L

e

Options :

22742753297. 1
22742753298. 2
22742753299. 3

22742753300. 4

Question Id : 22742713676 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742713677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753281. 1
22742753282. 2
22742753283. 3

22742753284. 4

Question Number : 47 Question Id : 22742713678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR o fmraeie srforarunst o Fg § 3 &1 O gawns & ama s S Wi e 2
A d s FHT )

B. HRd H 3 oaidadl & U §-1e] TRy giawrsfi & 3HE ¢

C. d D & g

D. TRaT TRT HUH ORI B UHTRId B o g i off Sraira= gl & dd R AR )

T U e Y TS ST -

1. Had A, B3IRD
2 $aaB 3R D
3 %ddB, C3RD
4 HITAIARD

Options :

22742753285. 1
22742753286. 2
22742753287.3

22742753288. 4

Question Number : 48 Question Id : 22742713679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRA DI GauyH g IR Biey Sl diiet ?

1. 3c8e § o4l &3 & o Worl Maiffeal &1 faery &3
2 Il H @ T & [oE Ui dl @1 Sard &l

3. AU ST DI WIE], WA g 218 UaH &l

4. IeHeiA H BH B eq R RIS o0 el

Options :

22742753289. 1
22742753290. 2
22742753291.3
22742753292. 4



Question Number : 49 Question Id : 22742713680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753293. 1
22742753294 2
22742753295. 3

22742753296. 4

Question Number : 50 Question Id : 22742713681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753297. 1
22742753298. 2
22742753299. 3

22742753300. 4

Forensic Science

Section Id : 227427182
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 227427538
Question Shuffling Allowed : Yes

Is Section Default? :

null



Question Number : 51 Question Id : 22742713682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

15 the highest judicial tribunal for district and is located in the district headquarter.

. Supreme court

- Executive Magistrates
. High Court

- Sessions court
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Options:

22742753301. 1
22742753302. 2
22742753303.3
22742753304. 4

Question Number : 51 Question Id : 22742713682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753301. 1
22742753302. 2
22742753303. 3

22742753304. 4

Question Number : 52 Question Id : 22742713683 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The loss of ability to express meaning by the use of speech or writing or to understand spoken or writien language is called

1. Aphasia

2. Cognition

3. Delirium

4 Delusion
Options :
22742753305. 1
22742753306. 2
22742753307. 3

22742753308. 4

Question Number : 52 Question Id : 22742713683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753305. 1
22742753306. 2
22742753307. 3

22742753308. 4

Question Number : 53 Question Id : 22742713684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

While sending exhibit to FSL, if the stain is on a transportable object such as knife, crowbar or firearm. itis not preferable to:

1. Send whole object

2. Protecting the area of the stain

3. Enclosing the object in a package

4 Scrape or cut the stain area and then pack
Options :

22742753309. 1
22742753310. 2
22742753311.3

22742753312. 4

Question Number : 53 Question Id : 22742713684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427533009. 1

22742753310. 2

22742753311. 3

22742753312. 4

Question Number : 54 Question Id : 22742713685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is known for a fingerprint classification system adopted in British India and United Kingdom and wrote a book titled “Classification and uses
of fingerprints”.

1. Dr. Henry Faulds

2. Sir William Hershal

3. Juan Yucetich

4. Sir Edward Henry
Options :
22742753313. 1
22742753314. 2
22742753315. 3

22742753316. 4

Question Number : 54 Question Id : 22742713685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753313. 1
22742753314 2
22742753315, 3

22742753316. 4

Question Number : 55 Question Id : 22742713686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Satellite DNA are

. Protein Coding

- mRNA Coding

. Non-protein coding

. Satellite protein coding
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Options :

22742753317. 1
22742753318. 2
22742753319. 3

22742753320. 4

Question Number : 55 Question Id : 22742713686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753317.1

22742753318. 2

22742753319.3

22742753320. 4

Question Number : 56 Question Id : 22742713687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In DNA fingerprinting analysis, probes used are made up of one of these:

_ Satellite DNA

- Single stranded labelled DNA
RNA

. Double stranded unlabelled DNA
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Options :

22742753321. 1
22742753322. 2
22742753323.3

22742753324. 4

Question Number : 56 Question Id : 22742713687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753321. 1
22742753322. 2
22742753323.3

22742753324. 4

Question Number : 57 Question Id : 22742713688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Variable Number of Tandem Repeats (VNTR's) in DNA fingerprinting analysis belongs to which one of these:

1. Nano-Satellite

2 Mini Satellite

3. Macro Satellite

4 Kilo Satellite
Options :
22742753325. 1
22742753326. 2
22742753327.3

22742753328. 4

Question Number : 57 Question Id : 22742713688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753325. 1
22742753326. 2
22742753327.3

22742753328. 4

Question Number : 58 Question Id : 22742713689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Luminal in presence of heme- part of haemoglobin undergoes oxidation by adding one of these in alkaline solution

1. Hydrogen sulphide
2. Hydrogen peroxide
3. Acetic acid

4. Sodium chloride
Options :
22742753329. 1
22742753330. 2
22742753331. 3

22742753332. 4

Question Number : 58 Question Id : 22742713689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753329. 1
22742753330. 2
22742753331.3

22742753332. 4

Question Number : 59 Question Id : 22742713690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



From the following which drug has the street name “Skunk™?

1. Cocaine

2. Marijuana

3. Khat

4. Zolpidem
Options :
22742753333. 1
22742753334, 2
22742753335. 3

22742753336. 4

Question Number : 59 Question Id : 22742713690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753333. 1
22742753334. 2
22742753335.3

22742753336. 4

Question Number : 60 Question Id : 22742713691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Phenolphthalein used in trap cases is raplaced by mixture of Phenolphthalein and (100:2), so that the resulting Pink colour does not fade
for years.

1. Benzoic acid

2. Phenol

3. Hydroquinone

4. Sodium Carbonate

Options :
22742753337. 1
22742753338. 2

22742753339. 3
22742753340. 4

Question Number : 60 Question Id : 22742713691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753337. 1
22742753338. 2
22742753339.3

22742753340. 4

Question Number : 61 Question Id : 22742713692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



SBSE Stands for

. Stir bar sorptive extraction

. Stir bar solvent extraction

. Solvent based sample extraction
. Solvent based single extraction

[

o

Options :

22742753341. 1
22742753342. 2
22742753343. 3

22742753344. 4

Question Number : 61 Question Id : 22742713692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753341. 1
22742753342, 2
22742753343.3
22742753344. 4

Question Number : 62 Question Id : 22742713693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A serum ethyl glucuronide concentration of greater than 5 mg/L is a indicative of

1. Recent past consumption of Heroin

2. Recent past poisoning with chloral hydrate

3. Recent past consumption of chloroform

4. Recent past consumption of alcoholic beverage
Options :

22742753345, 1

22742753346. 2

22742753347. 3

22742753348. 4

Question Number : 62 Question Id : 22742713693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753345. 1
22742753346. 2
22742753347.3
22742753348. 4

Question Number : 63 Question Id : 22742713694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



As the high-velocity rifle bullet enters the body, there is backward hurling of injured tissue, this is known as

1. Ricochet
2. Drilling

3. Yaw

4. Tail splash

Options :

22742753349. 1
22742753350. 2
22742753351. 3
22742753352. 4

Question Number : 63 Question Id : 22742713694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753349. 1
22742753350. 2
22742753351.3

22742753352. 4

Question Number : 64 Question Id : 22742713695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which of the following wounds, the immediate edges of the entrance are seared by the hot gases of combustion and blackened by the soot
which 1s embedded in seared skin and cannot be completely removed.

1. Incomplete wounds

2. Hard Contact Wounds

3. Near contact wounds

4. Intermediate range wound

Options :

22742753353. 1
22742753354. 2
22742753355. 3
22742753356. 4

Question Number : 64 Question Id : 22742713695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753353, 1
22742753354, 2
22742753355. 3

22742753356. 4

Question Number : 65 Question Id : 22742713696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of these wounds are typically larger and can be stellate, slit-like, crescent, circular or completely irreqular

1. Distant wounds

2. Angled contact wounds

3. Intermediate large wounds
4 Exit wounds

Options :
22742753357 1
22742753358. 2
22742753359. 3

22742753360. 4

Question Number : 65 Question Id : 22742713696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753357. 1
22742753358. 2
22742753359. 3

22742753360. 4

Question Number : 66 Question Id : 22742713697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The primer consists of a brass or gilding metal cup, a pellet containing a sensifive explosive a paper dish and a brass anvil having a single large
flash hole in the bottom of the case, is known as

1. Berdan

2. Head stamp

3. Boxer

4 Pin-fire

Options :
22742753361. 1
22742753362. 2
22742753363. 3

22742753364. 4

Question Number : 66 Question Id : 22742713697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753361. 1
22742753362. 2
22742753363. 3

22742753364. 4

Question Number : 67 Question Id : 22742713698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Black and White films are divided into how many basic groups

1. Two

2 Three

3 Four

4 Five
Options :
22742753365. 1
22742753366. 2
22742753367.3

22742753368. 4

Question Number : 67 Question Id : 22742713698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753365. 1
22742753366. 2
22742753367.3

22742753368. 4

Question Number : 68 Question Id : 22742713699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which camera film can be utilized to reduce haze, glare and reflected light when photography was done near or over water surface

1. Polarized filters

2. Skylight filter No- 1A

3. Yellow filter No- 8

4 Red Filter No-25
Options :
22742753369. 1
22742753370. 2
22742753371.3

22742753372. 4

Question Number : 68 Question Id : 22742713699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753369. 1
22742753370. 2
22742753371. 3

22742753372. 4

Question Number : 69 Question Id : 22742713700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Most widely used restrainer (anti-foggant) during development process of paper and film negative is

1. Pottassium Bromide
2. Boric Acid

3. Amidol

4. L-Ascorbic Acid
Options :
22742753373. 1
22742753374, 2
22742753375. 3

22742753376. 4

Question Number : 69 Question Id : 22742713700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753373. 1
22742753374. 2
22742753375.3

22742753376. 4

Question Number : 70 Question Id : 22742713701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The lowest temperature at which a liquid gives off sufficient vapour to form a mixture with air that will support combustion is known as

1. Flash Point

2 End Point

3. Boiling Point

4. Cooling Point
Options :
22742753377.1
22742753378. 2
22742753379. 3

22742753380. 4

Question Number : 70 Question Id : 22742713701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753377. 1
22742753378. 2
22742753379. 3

22742753380. 4

Question Number : 71 Question Id : 22742713702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Fizz test is used to check the presence of which of the following components of a soil?

1. Carbonate

2. Gypsum

3. Organic matter
4 Oxides
Options :
22742753381. 1
22742753382. 2
22742753383. 3

22742753384. 4

Question Number : 71 Question Id : 22742713702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753381. 1
22742753382. 2
22742753383. 3

22742753384. 4

Question Number : 72 Question Id : 22742713703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The three basic hair types that are present on human body are classified as Vellus, intermediate and

1. Branched

2 Terminal

3. Bulged

4. Singed
Options :
22742753385. 1
22742753386. 2
22742753387.3

22742753388. 4

Question Number : 72 Question Id : 22742713703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753385. 1
22742753386. 2
22742753387. 3

22742753388. 4

Question Number : 73 Question Id : 22742713704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The diameter of medulla in human is largest in case of

1. New bomn

2. Children

3. Middle age person
4. Old age person
Options :
22742753389. 1
22742753390. 2
22742753391. 3

22742753392. 4

Question Number : 73 Question Id : 22742713704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753389. 1
22742753390. 2
22742753391 3

22742753392. 4

Question Number : 74 Question Id : 22742713705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which chemical phenomena or method is used to make tough glass which is a type of safety glass

1. Nontemplate Adenylation
2. lon exchange

3. Electrophoresis

4. Electroplating
Options :
22742753393. 1
22742753394, 2
22742753395. 3

22742753396. 4

Question Number : 74 Question Id : 22742713705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753393. 1
22742753394, 2
22742753395. 3

22742753396. 4

Question Number : 75 Question Id : 22742713706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A regular pulse-to-pulse variation in amplitude with every second pulse being considerably weaker is called?

1. Idiosyncratic Expressions
2. Falsetto

3. Diplophonia

4. Phonation

Options :
22742753397. 1
22742753398. 2
22742753399. 3

22742753400. 4

Question Number : 75 Question Id : 22742713706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753397. 1

22742753398. 2

22742753399. 3

22742753400. 4

Question Number : 76 Question Id : 22742713707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Resonance frequencies in the vocal tract determined by the shapes and volumes of different cavities of the tract is known as

1. Fundamental Frequency
2. Voice disquise

3. Formants

4 Rhythm

Options :

22742753401. 1
22742753402. 2
22742753403. 3
22742753404. 4

Question Number : 76 Question Id : 22742713707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753401. 1
22742753402. 2
22742753403.3

22742753404. 4

Question Number : 77 Question Id : 22742713708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Upon adduction, with the correct tension, the vocal cords vibrate when subglottal pressure is supplied by lungs. This vocal cord vibration is
called

1 Pitch

2. Nasalised Sounds

3. Glottis

4 Voicing

Options :
22742753405. 1
22742753406. 2
22742753407. 3

22742753408. 4

Question Number : 77 Question Id : 22742713708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753405. 1
22742753406. 2
22742753407. 3

22742753408. 4

Question Number : 78 Question Id : 22742713709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Atire tread can be individualized to a particular tire because

1. Tire travel at a higher speed

2. Increase friction at the point of contact

3. Tire support more weight than does footwear

4. Tire treads pickup increasing number of details with time and use

Options :

227427534009. 1
22742753410. 2
22742753411.3
22742753412. 4

Question Number : 78 Question Id : 22742713709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

227427534009. 1
22742753410. 2
22742753411.3

22742753412. 4

Question Number : 79 Question Id : 22742713710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following statement is not correct statament -

1. Lack of a sufficient amount of the known writing is the most common deficiency to reach at a qualified opinion

2. Standards written under very different circumstances from the questioned material [imits the examiner to reach a definite opinion

3. Adefinite 'yes' or 'no’ answer doss not preclude by wide differences between dates of standard and disputed material written during severe
liness.

4. The task of maintaining an effective disquise grows more difficult with each additional word

Options :

22742753413. 1
22742753414. 2
22742753415. 3
22742753416. 4

Question Number : 79 Question Id : 22742713710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753413. 1
22742753414. 2
22742753415.3

22742753416. 4

Question Number : 80 Question Id : 22742713711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Inconsistency In letter forms, tremors, use of altemate letter forms, use of grotesque forms and lack of fluency are the characteristics commonly
associated with which of the following -

1. Simulated forger

2. Forgery by memory

3 Disguise

4. Forgery by computer manipulations
Options :
22742753417. 1
22742753418. 2
22742753419. 3

22742753420. 4

Question Number : 80 Question Id : 22742713711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742753417. 1
22742753418. 2
22742753419.3

22742753420. 4

Question Number : 81 Question Id : 22742713712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The overspray patterns occur as an artefact in the printing of which of the following printers

1. Ink-jet Printers

2. Dot-matrix printers
3. Laser printers

4 Intaglio printers
Options :
22742753421. 1
22742753422.2
22742753423. 3

22742753424. 4

Question Number : 81 Question Id : 22742713712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753421. 1
22742753422. 2
22742753423.3

22742753424. 4

Question Number : 82 Question Id : 22742713713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The trash-marks or imaging defects produced by will not appear in the same place on each copy

1. Glass platen defect marks

2. Drum defect marks

3. Paper feeding grippers and roller defect marks
4. Rubber-backing blanket defect marks

Options :

22742753425. 1
22742753426. 2
22742753427. 3
22742753428. 4

Question Number : 82 Question Id : 22742713713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753425. 1
22742753426. 2
22742753427.3

22742753428. 4

Question Number : 83 Question Id : 22742713714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In computer assisted superimposition, which of the following is frue:

1. The skull and facial photographs are digitized using a scanner

2. The two images are not compared morphologically by image processing

3. Ascale for the digitizad skull image is established by converting the actual measurement between the anthropological landmarks into e
number of pixels in the monitor

4 Fade in and fade out, wiping and sweeping the face and skull is done by computer when kept in [ateral position

Options :

22742753429. 1

22742753430. 2

22742753431. 3

22742753432. 4

Question Number : 83 Question Id : 22742713714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742753429. 1
22742753430. 2
22742753431.3

22742753432. 4
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Which of the following is true for video superimposition:

1. Images of skull and photograph are projected on a monitor placed near the skull

2. The skull is not fixed on a rotatable universal stand

3. The photograph is not fixed with the same orientation parallel to skull

4 One camera is directed at the front view of the skull and second camera is focused on the lateral view of the face
Options :

22742753433. 1

22742753434, 2

22742753435. 3

22742753436. 4
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Options:

22742753433. 1
22742753434, 2
22742753435.3

22742753436. 4
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In superimposition technique, the photographs of the skull and face are superimposed by adjusting the magnification untl the interpupillary
distances cormesponding on the assumption that

1. The interpupillary distances in one individual s not same always when the eyes move in difierent directions

2. The negative Is not placed under the ground-glass of camera

3. The salient features of the face are marked out carefully on the glass

4 The skullis mounted on an appropriate skull rest so as not to align with the outline of the head on the ground glass in the corresponding
portrait

Options :

22742753437. 1

22742753438. 2

22742753439. 3

22742753440. 4
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Options:

22742753437. 1

22742753438. 2

22742753439. 3

22742753440. 4
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Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The coaling of the body after death doas not occur at the same rate throughout the body. Internal organs cool primarily due to phenomenon of:

1. Conduction

2 Reflection

3. Oxidation

4 Digestion

Options :
22742753441. 1
22742753442, 2
22742753443. 3

22742753444, 4
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FRUNGRId 21 1 el [ 3K 5 0 97 & 8 3l 3| o of et Faifara weod (uReed) & ®RU Tifdd gl § -

1. dIefH

2 TRIGcH

3. e

4. T
Options :
22742753441. 1
22742753442. 2
22742753443. 3

22742753444. 4
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What is the name of portable vapour detector which provide a rapid screening test for volatile organic compounds &t a fire crime sceng

1. Amplicon

2. Sniffer

3. Gel Doc System

4 Radar

Options :
22742753445, 1
22742753446. 2
22742753447. 3

22742753448. 4
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Options:

22742753445. 1
22742753446. 2
22742753447.3

22742753448. 4
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Any attempt to contact legitimate user of the target system and trick them into qiving out information that can be used by the infruder to break
into the computer is referred as

1. Attack

2. 5QL injection

3. Social enginegring

4 Phishing

Options :
22742753449, 1
22742753450. 2
22742753451. 3

22742753452. 4
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Options:
22742753449. 1
22742753450. 2
22742753451. 3

22742753452. 4
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Subcutaneous Hypostasis is caused by

. Enough ATP present in the muscles

. Stagnation of blood in blood vessels

. Proteins and Carbohydrates are split into simpler compounds
. Drainage of blood from blood vessels

[

o

Options :

22742753453. 1
22742753454. 2
22742753455. 3

22742753456. 4

Question Number : 89 Question Id : 22742713720 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time: 0
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Options:

22742753453. 1
22742753454, 2
22742753455. 3
22742753456. 4
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Total magnification of a lens system is determined by

1. Ocular magnification x Objective magnification
2. Ocular magnification +Objective magnification
3. Ocular magnification x Depth of field

4. Height of Image = Height of object

Options :

22742753457. 1

22742753458. 2

22742753459. 3

22742753460. 4
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Options:

22742753457. 1
22742753458. 2
22742753459. 3

22742753460. 4
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Which of these restriction enzymes are used in forensic DNA fingerprinting analysis
A Hae Il

B. ECORI

C. Hind Il

D. Sau3A1

E. BCaqi

Choose the correct answer from the options given below:

1A DandE
2 A BandC
3B, DandE
4 C, DandE

Options :

22742753461. 1
22742753462. 2
22742753463. 3

22742753464. 4
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22742753461. 1
22742753462. 2
22742753463. 3

22742753464. 4
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The pH of phenol used in the process of DNA isolation from biological exhibits is to be maintained above 7.5, because
A It plays safeguard for RNA and does not allow it to separate

B. DNA partition into organic phase in the acid range

C. It separates WBC from other components of cell

D. Removes traces of proteins

Choose the correct answer from the options given below:

1. A&B only
2.B&Conly
3. B &D only
4 C&Aonly

Options :

22742753465. 1
22742753466. 2
22742753467. 3

22742753468. 4
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Options :

22742753465. 1
22742753466. 2
22742753467. 3

22742753468. 4
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Which of these is correct for agarose gel used to run genomic DNA

A. Single nucleotide difference in the length of a DNA fragment can be resolved
B.Itis a linear polymer composed alternating residues of D- and L galactose

C. It is formed by polymerization and cross-linking reactions

D. A low concentration of agarose in a gel forms longer pores

Choose the correct answer from the options given below:

1. A, & B only
2.B, & Conly
3. A &Conly
4 B, & D only

Options :
22742753469. 1
22742753470.

22742753471.

A W N

22742753472.
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Options :

22742753469. 1
22742753470. 2
22742753471.3
22742753472. 4
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Which of the following are organic irritant poisons?

A_ Aconite

B. Ricinus Communis

C. Opium

D. Semi carpus Anacardium

E. Cantharides

Choose the correct answer from the options given below:

1. A B&Conly
2.B,C&Donly
3 A C&Eonly
4 B,D&E only

Options :

22742753473. 1
22742753474. 2
22742753475. 3
22742753476. 4
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Options :
22742753473. 1
22742753474, 2
22742753475. 3

22742753476. 4
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Which of the following is correct combination of chemical names and their synonyms:
A_Mercuric chloride — Corrosive Sublimate

B. Mercuric Oxide — Sipichand

C. Mercuric sulphide — Raskapoor

D. Diethyl Mercury — Cinnabar

E. Mercurous chloride — Calomel Lotion

Choose the correct answer from the options given below:

1. A B&Conly
2.B,C&Donly
3. A B&Eonly
4 B,C&Eonly

Options :

227427534771
22742753478. 2
22742753479. 3

22742753480. 4
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Options :

227427534771
22742753478. 2
22742753479. 3

22742753480. 4
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The proportion of the unburnt powder to the whole charge depend on which of the following factors:
A. the length of the barrel of the weapon

B. the pressure

C. the type of the powder

D. the type of the Projectile

E. the type of bore of the gun

1.E,D & Conly
2.D,C&Bonly
3. C,B&Aonly
4 B,A&E only

Options :

22742753481. 1
22742753482. 2
22742753483. 3

22742753484. 4
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22742753481. 1
22742753482. 2
22742753483. 3

22742753484. 4

Question Number : 97 Question Id : 22742713728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct options

A Double barrelled shotguns with hammerless actions have the hammers enclosed inside the body of the action.

B. ‘Saloon’ pistols are sometimes sold as Toy’ pistols

C. The Derringer’ is a single-shot pistol of a small calibre, usually 0.22".

D. Ejection of the fired case is brought about by special lock mechanism which comes into action whether the hammer falls or not.
Choose the correct answer from the options given below:

1.A&Bonly
2. A& Conly
3.B&Conly
4. C&Donly

Options :

22742753485. 1
22742753486. 2
22742753487. 3

22742753488. 4
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Options :

22742753485. 1
22742753486. 2
22742753487. 3
22742753488. 4
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Which of the following explosive are included in plastic explosive.
A C-4 Explosive

B. Black Powder Explosive

C. SEMTEX Explosive

D. Tetryl Explosive

E. Picric Acid Explosive

Choose the most appropriate answer from the options given below:

1.D & B only
2.D &Aonly

3. A&Conly

4 B & E only
Options :
22742753489. 1
22742753490. 2
22742753491. 3

22742753492. 4
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Options :

22742753489. 1
22742753490. 2
22742753491. 3

22742753492. 4
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Explosive residue received in a forensic Science Laboratory must undergo following examination first
A. Microscopic examination

B. Chemical examination

C. Visual examination

D. Instrumental examination

E. Vapor examination

Choose the most appropriate answer from the options given below:

1.E,C&Aonly
2.B,D&Conly
3.A B&Conly
4.D A&Bonly

Options :

22742753493. 1
22742753494. 2
22742753495. 3

22742753496. 4
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22742753493. 1
22742753494, 2
22742753495, 3

22742753496. 4
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The two most commonly used preservative materials added in developing solution for development of paper and film negatives are:
A Pyrogallol

B. Catechol

C. Potassium Metabisulphite

D. Phenidone

E. Sodium Sulphide

Choose the most appropriate answer from the options given below:

1. A&Bonly
2.6&Conly
3. E&Conly
4. D&E only

Options :

22742753497. 1
22742753498. 2
22742753499. 3

22742753500. 4
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22742753497. 1
22742753498. 2
22742753499. 3

22742753500. 4
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Following are the different types of volatile data present in a computer
A_CPU Cache

B. CPU Registers

C. RAM data

D. HARD DISK

E. Pen drive data

Choose the most appropriate answer from the options given below:

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 D, E&Aonly

Options :

22742753501. 1
22742753502. 2
22742753503. 3
22742753504. 4
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22742753501. 1
22742753502. 2
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22742753504. 4
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Following impressions prove that a suspect was present at the crime scene
A. Fingerprint Impressions

B. Tool marks

C. Footwear impressions

D. Tread marks or Tire marks

Choose the most appropriate answer from the options given below:

1. A& B only
2.B & C only
3. A&Conly

4 B &D only
Options :
22742753505. 1
22742753506. 2
22742753507. 3

22742753508. 4
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22742753506. 2
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The identification of an unknown writing depends on

A. The similarity between the writing habits manifests in it and in the known writings

B. The similarity between the writing habits manifests in it and in the non-admitted standards
C. The nature and range of variation must be looked into, in the known and unknown writings
D. Writing variation should not be considered

Choose the most appropriate answer from the options given below:

1. A& B only
2.A&Conly
3.A&Donly
4. B & C only

Options :

227427535009. 1
22742753510. 2
22742753511. 3

22742753512. 4

Question Number : 103 Question Id : 22742713734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. TG 30TH & Y YA 344 USRI 81dl B 3R sRidied AHa! | i fears usdi 2|

C. T 3R 331 7 H SR & Udld 3R W S A-arda: Fid & JF 91iey

D. TREd fa¥ue W @ i fegr 9F1 91ev]

I & 7 fgeedl § 9 98 IR &1 999 B

1. Haad A AR B
2 HAAAARC
3 HAAARD
4 HAABARC

Options :

227427535009. 1
22742753510. 2
22742753511. 3
22742753512. 4

Question Number : 104 Question Id : 22742713735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the estimation of age which of the following are considered

A The degree of formation of root and crown structure

B. Clavicle bone

C. Intermixture of temporary and permanent teeth

D. Long bone such as tibia

Choose the most appropriate answer from the options given below:

1. A B&Conly
2.B,C&Donly
3 A C&Donly
4 A B&D only

Options :

22742753513 1
22742753514. 2
22742753515. 3

22742753516. 4

Question Number : 104 Question Id : 22742713735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HY & Hdaq § Fgifed § 9 fod R 9aR [dgr e s

A GaHd AR G RREX S A0 B O
B. 9® ™Y

C. 3UTs MR =TS &d BT e

D. Tiel iy gyt fefemn

1 & U fadedl & ¥ 9 Iugdd STk &l 944 B

1. $ddA B3R C
2 ®adB. C 3R D
3. WadA C3RD
4 HAdA B3RD
Options :
22742753513. 1
22742753514, 2
22742753515. 3

22742753516. 4

Question Number : 105 Question Id : 22742713736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In majority of the high-powered rifles, the mouth of the case in which the bullet is sealed is necked down
A_To a smaller diameter than the rest of the case

B. Results in parallel wall

C. Results in bottle shaped appearance

D. Increased accommodation of propellant

Choose the most appropriate answer from the options given below

1.A B, D only
2.A C Donly
3. B, Donly
4 A Conly

Options :

22742753517. 1
22742753518. 2
22742753519. 3
22742753520. 4

Question Number : 105 Question Id : 22742713736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. 390 Theva®y SIqe id e uedl gl

D. Toiie® @ afig =H

rd f& 70 fawedl & © Tl I0Yad IR B TG Do

1. @qdA B3RD
2 BaaA CRD
3. BAaB IRD

4 BATAIRC
Options :
22742753517. 1
22742753518. 2
22742753519, 3

22742753520. 4

Question Number : 106 Question Id : 22742713737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are relieved to firearm injuries?

A_ Different injury patterns arise from bullet wounds than shotgun pellet wounds.

B. Firearm injuries are a type of sharp cut wound.

C. High speed bullets from military rifles cause more damage than low speed bullets from hand guns.
D. Similar injury patterns arise from bullet wounds and shotgun pellet wounds.

E. Some gunshots penetrate the body but do not exit.

Choose the most appropriate answer from the options given below

1.A B, &Conly
2.B,C&D only
3.C,D&Eonly
4 A C&Eonly

Options :

22742753521. 1
22742753522. 2
22742753523.3
22742753524. 4

Question Number : 106 Question Id : 22742713737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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il fow 7 faded  § W) IR 31 999 i

1. 590 A BIRC
2 $aB, CIRD
3 %90C DIRE
4 $IAA CIHRE

Options :

22742753521. 1
22742753522. 2
22742753523. 3

22742753524. 4

Question Number : 107 Question Id : 22742713738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are definitions of the phenomenon?
A. Spontaneous combustion - resulf of a natural heat producing process in poorly ventilated container or areas.

B. Conduction - Movement of heat through a solid object is caused by specific process in which electrons and afoms within heated object collide
with each ather.

C. Radiation - Transfer of heat energy by movement of molecules within a liquid or gas.
D. Convection - Transfer of heat energy from a heated surface to & cooler surface.
Choose the correct answer from the options given below

1.A &Bonly
2.B&Conly
3.C&Donly
4 A&D only

Options :

22742753525, 1
22742753526. 2
22742753527.3

22742753528. 4

Question Number : 107 Question Id : 22742713738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0 e e & 9 3 € e &9

A, 5 T - 5 T ) e T S 0 G S 5 6 T e

B, T - et 31 g e o o s FoRg o g For oS ffs & i il R R 065 R 9 9 4 ¢
C. fafeseon - foel 5 1 T o o o St T 9 1 oD, e - e g o @ e ug o g o a1 i
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) $adBIRC
3 630 C A0
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Options :

22742753525. 1
22742753526. 2
22742753527. 3

22742753528. 4

Question Number : 108 Question Id : 22742713739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct combination of types of explosives and lons present in them?
A. Black Powder explosive -k* NO;, NO; , H;

B. Tovex explosive — NH;, No; NMAT

C. ANFO explosive - k*,cl~ \NO7 507"

D. Smokeless powder explosive — NH;, NO; , HCO;

Choose the most appropriate answer from the options given below

1. A&B only
2.B&Conly
3. C&Donly
4 A&D only

Options :

22742753529. 1
22742753530. 2
22742753531. 3
22742753532. 4

Question Number : 108 Question Id : 22742713739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FofeRad & 4 fathics! & YeR Ud S8 IURYT -l & el 34 S 4 82

A TG [G8hIe®d — K* NOy” NOs H5

B. ldad [G9hIe® - NHs™ NOy. MMAT

C. U Th3f faehie®d - K+, G, NOy~, SO4

D. yoRfRd Ur3 e fa¥dhicd® - NH,™, NO5~, HCOy

o L

J feu 7o faeegl § 9 981 3R &1 999 Sifeu

1. Pad A AR B
2. HAAB AR C
3. BAAC AR D
4 HATAIRD
Options :

22742753529, 1
22742753530. 2
22742753531 3

22742753532. 4

Question Number : 109 Question Id : 22742713740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are part of "File allocation Table” (FAT) file system?
A FAT 12

B. FAT 16

C. FAT 320

D FATZ

E FATX

Choose the correct answer from the options given below:

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 A B&Eonly

Options :

22742753533. 1
22742753534. 2
22742753535. 3
22742753536. 4

Question Number : 109 Question Id : 22742713740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Blgd e & "Hied TaldsA cad (FAT)S YT Fafifed 4 o 1 82
A FAT 12

B. FAT 16

C. FAT 320

D FAT Z

E.FATX

1 feu U fadedl § ¥ Tl IR &1 907 B

1. $ddA B3R C
2 ®adB. C 3R D
3. ®maadC DIARE
4 HadA B3ARE
Options :
22742753533, 1
22742753534, 2
22742753535. 3

22742753536. 4

Question Number : 110 Question Id : 22742713741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the correct combination of substances and the test for its detection?
A_ Benzodiazepine — Marquis Test

B. Nux vomica — Duquenois Levine Test

C. Cannabis — Microscopic test for cystolithic and glandular hair

D. Antimony — Scott test

E. LSD -Van Urk's reagent Test

Choose the correct answer from the options given below:

1.A B&Conly
2.B,C&Donly
3. C&Eonly
4 C &D only

Options :

22742753537. 1
22742753538. 2
22742753539. 3

22742753540. 4

Question Number : 110 Question Id : 22742713741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HadA B3R C
2 ®dd B, C AR D
3 ®ad CARE
4 HIAC AR D

Options :

22742753537. 1
22742753538. 2
22742753539. 3
22742753540. 4

Question Number : 111 Question Id : 22742713742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the primary classification of an individual is 9/3, which of the following finger impressions are whorl pattern?
A_Right Middle

B. Right Ring

C. Left Index

D. Left Middle

Choose the correct answer from the options given below:

1.A&Bonly
2.B&Conly
3. C&D only
4 A&D only

Options :

22742753541. 1
22742753542. 2
22742753543. 3
22742753544. 4

Question Number : 111 Question Id : 22742713742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. Tlig 814 &1 3FTHDI

C. 91 B & dal

D. S 514 & HEH

I fu U fadel © © UET ST @1 997 $ifel

1. HAdA IR B

2 $aaB AR C

3. %aq C AR D

4 HaAAARD
Options :
22742753541. 1
22742753542, 2
22742753543, 3

22742753544. 4

Question Number : 112 Question Id : 22742713743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following ascertains the skill of execution and the movement of the pen?
A_ The rhythmic or jerky pattern of writing

B. Type of writing instrument

C. The speed of execution

D. The surface on which the signature is executed

Choose the correct answer from the options given below:

1. A& B only
2.B & C only

3. A& Conly

4 B &D only
Options :
22742753545. 1
22742753546. 2
22742753547. 3

22742753548. 4

Question Number : 112 Question Id : 22742713743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PAdA IR B
2 HadB AR C
3. HAdA IR C
4 HadB AR D
Options :

22742753545, 1
22742753546. 2
22742753547. 3

22742753548. 4

Question Number : 113 Question Id : 22742713744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following aspects of organizational |T security are correct?
A Facilities security

B. Application security

C. Human security

D. Information security

E. Network security

Choose the correct answer from the options given below:

1. A B&Conly
2.B,D&E only
3.C,D&Eonly
4 A D&Eonly

Options :

22742753549. 1
22742753550. 2
22742753551. 3
22742753552. 4

Question Number : 113 Question Id : 22742713744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 HadB D3IRE
3. ®maadC DIARE
4 HAdA D3IRE
Options :
22742753549. 1
22742753550. 2
22742753551. 3

22742753552. 4

Question Number : 114 Question Id : 22742713745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What kind of investigative information can be obtained from the laboratory analysis of explosive devices?
A_The sophistication level of the bomb maker?

B. Is the bomb commonly used by organized crime groups?

C. The sources for the design concepts of the device

D. Evidentiary weight for subsequent judicial proceedings

E. Determine the owner of the property

Choose the correct answer from the options given below:

1.A, B&Conly
2.B,C&Donly
3. C,D&Eonly
4 A B&Eonly

Options :

22742753553, 1
22742753554. 2
22742753555. 3

22742753556. 4

Question Number : 114 Question Id : 22742713745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ad A B3R C
2 $9dB, CARD
3 ®dac,DIRE
4 HadA B3RE

Options :

22742753553, 1
22742753554. 2
22742753555. 3

22742753556. 4

Question Number : 115 Question Id : 22742713746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



From which of the following precursors methyl amphetamine are synthesized?
A l-ephedrine

B. d-pseudoephedrine

C. Hydroxypropyl cellulose

D. Phenyl-2-propeone

E. aminoalkyl methoacrylate copolymer

Choose the correct answer from the options given below:

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 A B&Donly

Options :

22742753557. 1
22742753558. 2
22742753559. 3

22742753560. 4

Question Number : 115 Question Id : 22742713746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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H2 fev v foeyl § © U5 TR &1 98 Sifeu

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HIAA B3HRD

Options :

22742753557. 1
22742753558. 2
22742753559. 3
22742753560. 4

Question Number : 116 Question Id : 22742713747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



List | List Il
(Social work Institutions)|(Year of Establishment)

A. Snell’s Law I.Image distance/Object distance
B. Magnification l. determine the resolving power of microscope.
22 =
sinr My

C BeerLambert Law |- refractive indice

i= angle of incident r = angle of reflection

D. Numerical aperture  |IV. A=Y,bc, A= absorption, };=Molar absorbility, c=Concentration, b=Path of light
Choose the correct answer from the options given below

1.A-ILB-IVC-IlI D-I
2A-1,B-IlLC-NV.D-1l
JA-IVB-I,C-1D-
4 A-lILB-1,C-IVD-1l
Options :
22742753561. 1
22742753562. 2
22742753563. 3

22742753564. 4

Question Number : 116 Question Id : 22742713747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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IV.A = € bcA = STARNUIE = U 3UdH HTANHAIC = YiZUB = UHT= HI A1

D. S=IT#HS ZaRs|
Tt o ¥ Tgl SR @1 999 difg

1. A-Il B-IV. C-1ll D-1
2 A-1 B-1Il_C- V. D-1I
3. A-IV.B-II, C-1, D- 1
4 A1l B-1.C-IV.D-1I




Options :

22742753561. 1
22742753562. 2
22742753563. 3

22742753564. 4

Question Number : 117 Question Id : 22742713748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List

List| List I
\Variations Interpretafional Consequences
A Star actvit |. When a mutation occurs inside VNTR sequence creating a novel restriction enzyme ste

B. Partial digesfion by restriction

S Il Relaxation of the specificity of restriction enzyme to define ifs cut size
i

Ill. When the subsequent probing is developed, faint band are defected that are at the same position as these from previous

C. Three banded pattem
P probe

D. Incomplete stipping of probe V. Where some DNA strands are longer han would be expected after a complete digestion

Choose the corract answer from the options given below:

1.A-1l.B-IV,C-1.D-Il
2A-1lB-1,C-1IlD-V
3 A-IIB-1l,C-VD-I
4 A-IV.B-MIl, C-1.D-I

Options :

22742753565. 1
22742753566. 2
22742753567. 3

22742753568. 4

Question Number : 117 Question Id : 22742713748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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1. A-Il, B-1v. C- 1, D-1l

2.A-1IB-1 C-1ll,D-V

3. A-Ill,B-1I, G-IV, D-1

4 A-IV,B- Il C-1,D-1I

Options:

22742753565. 1
22742753566. 2
22742753567. 3
22742753568. 4

Question Number : 118 Question Id : 22742713749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il
Plant poison Common Names
A Nerium Odorum  |I. Monk's Hood

B. Cerebra Thevetia |Il. VWhite oleander

C. Aconitum Napellus|lll. Fox Glove

D. Digitalis Purpuria |IV. Yellow Oleander
Choose the correct answer from the options given below:

1.A-ILB-IV,C-I,D-1l
2A-IVB-I,C-I1l,D-1l
JA-ILB-IILC-IV,D-I
4 A-1,B-IlLC-NI,D-IV



Options :

22742753569. 1
22742753570. 2
22742753571. 3

22742753572. 4

Question Number : 118 Question Id : 22742713749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Hid fau U fadedl | € gl IR &1 99 difou

1Al B-IV.C-I,D-1

2 A-IV.B-I,C-1l,D-1ll
3A-1,B-1ILC-IIl,D-IV
4 A-1,B-1l, C-1ll, D- IV
Options :

22742753569. 1
22742753570. 2
22742753571.3

22742753572. 4

Question Number : 119 Question Id : 22742713750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List I

List | List Il

Number of Bore|Diameter of Bore in inches
AD 1. 0.526

B.12 Il. 0.662

C. 16 . 0.729

D. 32 V. 0.835

Choose the correct answer from the options given below:

1LA-ILB-I,C-I,D-1IV
2A-IVB-IIlLC-Il,D-I
3A-IILB-1,C-ND-I
4 A-IlLB-IV.C—-1 D-1I
Options :

22742753573 1
22742753574. 2
22742753575. 3

22742753576. 4

Question Number : 119 Question Id : 22742713750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It - 1 -l

SR &) SR H1 AH 39§
A 8 I. 0.526

B. 12 Il 0.662

C. 16 Il 0.729

D. 32 IV. 0.835

- feu e famedl § 9§ 981 IR &1 99 sl

1. A1 B-1I, C- lll, D- IV
2 A-IV.B-1Il C-1, D-1
3 A-lll,B-1, C-IV. D-1i
4 A-ll B-IV. C-1, D-1ll

Options :



22742753573. 1
22742753574. 2
22742753575. 3

22742753576. 4

Question Number : 120 Question Id : 22742713751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List Il

Black and White film groups|ISO-number

A. Slow film I. 400/27-500/28
B. Medium film [l. 800/30-3200/36
C. Fast film . 100/21-200/24
D. Super fast film M. 25/M15-50/80

Choose the correct answer from the options given below:

1LA-I,B-NV,C-Il,D-
2 A-IVB-IIlLC-1,D-1
3A-1,B-ILC-Il,D-1IV
4 A-1LB-1.C-IV.D-1
Options :

22742753577. 1
22742753578. 2
22742753579. 3

22742753580. 4

Question Number : 120 Question Id : 22742713751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T -1 47 Ud W e St 1 g O o Se
A Hg e (=) . 400/27-500/28

B. Ay [l II. 800/30-3200/36

C. tia [ lIl. 100/21-200/24

D. 3ff oie feem IV. 25/15-50/80

i feu 7 fadedl 5 § 98l 3R @1 984 DIty

1A, B-IV, C-1l, D-1
2 A-IV.B-1Il,C-1,D-1
3 A-1,B-1l,C-lll,D- IV
4 A-1l, B-1,C- IV, D-1ll
Options :
22742753577. 1
22742753578. 2
22742753579. 3

22742753580. 4

Question Number : 121 Question Id : 22742713752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | Partition in Android|List || Characteristics

A_ [boot I. contains system and hardware setting information

B. /system Il. contains ROM OS files other than those in /boot

C. frecovery Il has the files and information to boot after power on.
D. /misc I'V. Helps the user to backup and restore other partitions

Choose the correct answer from the options given below:

1LA-IVB-IL,C-I1l.D-1I
2A-1,B-IV,C-IIl,D-1
3A-I1.B-ILC-I,D-IV
4 A-IlLB-1IILC-IV,D-I
Options :

22742753581. 1

22742753582. 2



22742753583. 3
22742753584. 4

Question Number : 121 Question Id : 22742713752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T -1 s H g -1 s

A ISE |. e iR greamR St gE1 orafdE Bt B

5./ =g II. /g Pt TIsTl % Afafas I R g wed sy et 8
C. / 9: WIS (Npadh) [II]. 916 F9 & 94T 92 $3 & [0 Fist U9 o1 5rdl &

D. / W&ol (misc) V. 3T fFUTeHT & 3% 18 T Wit § Waiaal & Seradl &3dl &

I feu 70 ol § ° 981 3R &1 994 St

1. A- IV, B-1, C-1l, D-1ll
2. A1, B-1IV, C-1ll, D- I
3. A1, B-1II, C-1,D- IV
4 A-1lI, B- 1, C- IV, D-1

Options :

22742753581. 1
22742753582. 2
22742753583.3

22742753584. 4

Question Number : 122 Question Id : 22742713753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | Fingerprint Classification|List || Characteristics

A Key I. Pattern types located in the index fingers

B. Major II. Ridges count of the loop in either right or left little finger

C. Secondary Ill. The ridge count of the first loop pattern exclude the little fingers
D. Final IV, Value of ridge count or ridge tracing on the thumbs

(e.g.: A-ll, B-lll, C-IV. D-1)Choose the correct answer from the options given below:

1.A-1,B-IlL.C-ILD-IV
2A-I,B-1,C=IV.D-IlI
JA-I,B-IV.C-1D-l
4 A-IVB-IIl,C-Il,D-I
Options :

22742753585. 1
22742753586. 2
22742753587. 3

22742753588. 4

Question Number : 122 Question Id : 22742713753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it -1 ST Tl -l St o

A FEETY = |. ot el & 5 HERE & HR

B. W@ 1. Gl a1 SRE SHET SRel | U ®t ed g

c. efaas |Il. BT 3R = BISHT WuH U= SHARE & $ed & GE
D. 3ffdH IV. TG T Sl DI TN H1 A O] S B gal T

T feu U fadedl € © Tt 3a) &1 9a difod

1A, B-1,C-1ll, D- IV
2 A-1l,B-1,C-Iv,D-1ll
3. A-ll,B-1v,C-1,D-1i
4 A-IV, B-1Il, C-1I, D-1
Options :
22742753585. 1

22742753586. 2



22742753587. 3
22742753588. 4

Question Number : 123 Question Id : 22742713754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List-l with List-l|

List-| Listl

(A). The factors related to the execution of handwriting |(1). The questioned writing must be within the reach or writing scope of the person

(B). To establish the range of vaniation (I1). In conspicuous details, distinguish the writings of two
(C). Writing variation (II1). Constitute comnerstone of accurate handwriting identification
(D). The individualiies (IV). Does not preclude identification of the writing

Choose the correct answer from the options given below:

1A-1LB-V.C-1.D-Il
2 A Bl G-V DA

3 AN B, G-V DA

4 AV B, C-ll D
Options :
22742753589. 1
22742753590. 2
22742753591. 3

22742753592. 4

Question Number : 123 Question Id : 22742713754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gt - gt -l
A SEIOET S ST SRS || HieT (WIATT) TREH 59 odfad @l Ugd oial foraTs o 89 & Hiak 81 I1feT
B. fire & WIS &1 RITYG &1)11, 3RF v & S 31 forars & e g &1

C. forms & fira IIl. T8 B 1 forEs B1 9 ie U ol Have 2|
D. ofp® fasiwa V. 559 foraTs @1 Uga &1 QalIaH o] Rl o S 81
T U e fadedl H ¥ Hel SR &1 98 Bile

1Al B-IV.C-1,D-1ll
2. A1, B-1Il, C- IV, D-1I
3 Al B-1,C-1V,D-1I
4 A-IV, B-1I, C-1Il, D-1
Options :
22742753589. 1
22742753590. 2
22742753591. 3

22742753592. 4

Question Number : 124 Question Id : 22742713755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List

List | List Il

Methods Results/Qbservation

A Ring Assay I. if the two antigens are totally unrelated, the lines will cross each other but not fuse, known as non-identity
B. Ouchterlony Assay II. Rapid and can be used both in the laboratory and field tests

C. Crossed-over Electrophoresis |Ill. If the bloodstain extract is not human, no precipitation appears

D. Immunochromatographic Assay|IV. Combination of immunodifiusion electrophoresis
(e.. Al Bl C-IV, D-I)Choose the correct answer from the options given below:

1 A-N.B~1 C~1l D-II
2 A-Ill,B~1 C~IV.D-II
3.A-1LB-IV.C~1,D-Il
4 A-1l,B~1 C~IV.D-II

Options :

22742753593. 1



22742753594. 2
22742753595. 3

22742753596. 4

Question Number : 124 Question Id : 22742713755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ol - fafeat el - TR By

B AN A I G0 S & SR S WO RN iR 4 g € 4 foren o ek )
C. 3 e oo L. 3 ¥ & 3 1 U (1 FIa 31 751 ol A1 @l 4 1G8Tk el U6l
D. Wiovef a0l o o |1V, et feen o foef e 1 e

A fEu T ol H 4 Ug1 SR 1 98 @il

1.A-IV,B-1, C- 1l D-1I
2. Al B-1,C-IV.D-1I
3 A1l B-IV.C-1.D-I
4 Al B-1,C-IV.D-II
Options :
22742753593. 1
22742753594, 2
22742753595. 3

22742753596. 4

Question Number : 125 Question Id : 22742713756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [IThe British shot size nomenclature is used in India

List | List Il
Number|Number of pellets / 28.35 gm
A LG |I.30
B.5SG |(Il.&0
C.A . &
0. B v 6

Choose the correct answer from the options given below:

1LA-IVB-II,C-1D-I
2A-IVB-Il.C-I D=1
3A-I1.B-1C-IlLD-1IV
4 A-1,B-IV,C—1,D-1l
Options :

22742753597. 1
22742753598. 2
22742753599. 3

22742753600. 4

Question Number : 125 Question Id : 22742713756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it -1 Tt -1 S P T /28.35 T
A LG 1. 50
B. SG II. 80
C.A T
D.B IV. 6

- feu e fqmedl § 9§ 981 3aR &1 99 sl

1. A-IV,B-1ll, C-1, D-1I
2. A-IV,B-1I, C-1, D- 1l
3. A-Il, B-1, C-1ll, D- IV
4 A1, B- IV, C-1I, D- 1l

Options :

22742753597. 1



22742753598. 2
22742753599. 3

22742753600. 4

Question Number : 126 Question Id : 22742713757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the function of lonization chamber of the x-ray detectors in proper sequence

A The sample Is placed outside the window or inserted In a well extending info chamber volume

B. The potential across the electrodes is adjustable to minimize recombination of the ion-pairs without causing amplification
C. An electric field is applied between two electrodes across a volume of gas

. For eachionizing event, a pulse lon chamber produces an electronic pulse proporfional to the number of electrons released by ionizing
radiation as these electrons are collected at the anode

Choose the correct answer from the options given below:

1.C,AD,B

2CBAD

JABCD

4B,DAC
Options:
22742753601. 1
22742753602. 2
22742753603. 3

22742753604. 4

Question Number : 126 Question Id : 22742713757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR 9 0 A0 FOT8 & B @) 31 7 A el B
A S 1 R T T T 1 58 WP S o) v e T # o e o ok 31
B, SIS o Va3 9 o o e T T T 6 o, o ol i 2|

C. 735 O 2 3R 5 et o 7 o e

D, T SRR o e O S e ) R ey 0 Vs el ) S 0T v U 90 e & en 4
TR TS WAl o

4 e e ¥ 9 ) O 7 T i

1.CADB
20BAD
JABCD
4B,DAC

Options :

22742753601. 1
22742753602. 2
22742753603. 3

22742753604. 4

Question Number : 127 Question Id : 22742713758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following explosive in terms of their increasing performance:
A HMX

B. RDX

C. PETN

D. TNT

Choose the correct answer from the options given below:

1.C,B,A D
2ABCD
3AD,B,C
4 BADC

Options :

22742753605. 1
22742753606. 2
22742753607. 3
22742753608. 4

Question Number : 127 Question Id : 22742713758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHifed [aemies! (Gomie) uard &1 390 SRHTGT & 3R W §¢d HF § a5
A. HMX

B. RDX

C. PETN

D. TNT

o

i fau e fadedl & T W81 IR &1 99 Bt

Options :

22742753605. 1
22742753606. 2
22742753607. 3

22742753608. 4

Question Number : 128 Question Id : 22742713759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the basic steps involved in a typical electrophotographic printing procass in a correct sequence:

A. Alaser beam s focussed onto the imaging drum to paint text or image onto its surface. This result in either discharging the image drum or
reduces the charge on ifs surface

B. An imaging drum or belt s charged by a charging roller

(. The blank paper is given a strong enough electrostatic charge. Thus, ransferring the image painted by the laser beam onto a shest of paper
D. Toner is electrostatically charged and rolled over the surface of the imaging drum

E. Different methods of heat and pressure are used to fuse and permanently fix the image onto the paper

Choose the correct answer from the options given below:

1.ABDCE
2ADCBE
JBADCE
4CABED

Options :

227427536009. 1
22742753610. 2
22742753611. 3

22742753612. 4

Question Number : 128 Question Id : 22742713759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i e e Rees e e ol T R 1 ) 9 W o i

A T 7151 ) 300 U W & 0 380 30 8 O R O i i 31 590 et 11 8 3 R g 1 1 S0 TR
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B. e arffr W & AR S0 1 o 1 o T R oA 3

C. e 7 T e o s o e fo o, S W, o 1 g om0 ol T A o 21 o

D, 2R fote s w0 @ o o i g7 W e gl )

E. 70 3 v o o T vt ot 910 1 Tt R o 6 o et e e o )

e U0 et 4 ) S 9 T B

1.ABDCE
2ADCBE
JBADCE
4CABED

Options :

227427536009. 1
22742753610. 2
22742753611. 3
22742753612. 4

Question Number : 129 Question Id : 22742713760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The human organs putrefy at different rates depending on therr structure, vascularity and access of air and bacteria. Arrange the sequence of
putrefaction of interal organs in reverse action.

A. Skin, muscle, tendon

B. Larynx and frachea

C. Brain

D. Heart

E. Liver and Lung

Choose the correct answer from the options given below:

1.ABCDE
2ECBDA
JADCED
4ADBEC

Options :

22742753613. 1
22742753614. 2
22742753615. 3

22742753616. 4

Question Number : 129 Question Id : 22742713760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 7 0 ST () e O e () O i v @1 R o a1 vt o 5 o
b SO WW@W
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1.ABCDE
2ECBDA
JADCED
4ADBEC

Options :

22742753613. 1
22742753614. 2
22742753615. 3
22742753616. 4

Question Number : 130 Question Id : 22742713761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teeth in humans develop in the following sequence:

A Apposition and calcification of enamel and dentin take place within germ
B. Crown is completely formed

C. The teeth calcify from crown to neck to roots

D. Formation of cellular tooth germ within the alveolar bone

Choose the correct answer from the options given below:

1.A,B,C,D
2DABC
3.D,B,AC
4 C,DAB

Options :

22742753617. 1
22742753618. 2
22742753619. 3
22742753620. 4

Question Number : 130 Question Id : 22742713761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. Gd-3qEd A H DIRDIG & o8 S 9Hd (FA)
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J feu 7o faeedl § 9 981 3R &1 999 Sifeis:

1.A,B,C,D
2DABC
3.D,B,AC
4 C,DAB

Options :

22742753617. 1
22742753618. 2
22742753619. 3

22742753620. 4

Question Number : 131 Question Id : 22742713762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In sexual assault case, the investigation proceeds in the following sequence:
A. Examination of the victim by doctor

B. Examination of clothing of the victim

C. The psychological counselling of the victim

D. The evidence packaged in tamper-evident packaging

Choose the correct answer from the options given below:

1.C,B,D,A
2ADB,C
3AB, CD
4 B,D,AC

Options :

22742753621. 1
22742753622. 2
22742753623. 3

22742753624. 4

Question Number : 131 Question Id : 22742713762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A Tofeas gr Gifsa/ difsar &1 Sl -asiem
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Hid feu U fowed & ¥ 981 STk &1 99 DIt

1.C,B,D,A
2ADB,C
3AB, CD
4 B,D,AC

Options :

22742753621. 1
22742753622. 2
22742753623. 3

22742753624. 4

Question Number : 132 Question Id : 22742713763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence within the firing range:
A_ Electrical detonator

B. Main charge

C. Electric current

D. Booster

Choose the correct answer from the options given below:

1.C,A D,B
2ABCD
3D, A CB
4 B,C, DA

Options :

22742753625. 1
22742753626. 2
22742753627. 3
22742753628. 4

Question Number : 132 Question Id : 22742713763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFafaiad & B 9ol o HH I sgafyd Hifer -

A dqgd fiRBITH

B. %I G (T 9m0)
C. Tdgdd 4RI
D. 99

1 feu U fadedl | ¥ Tl IR &1 907 Bl

1.C,A D,B
2ABCD
3D, A CB
4 B,C, DA

Options :

22742753625. 1
22742753626. 2
22742753627. 3

22742753628. 4

Question Number : 133 Question Id : 22742713764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the proper sequence for the analysis of samples in GC:

A_Vaporization takes place

B. Samples, both liquid and gas are then introduced into the flowing gas stream

C. The sample is infected by a hypodermic syringe through a self-sealing silicone rubber septum
D. Samples are swept onto the column

Choose the correct answer from the options given below:

1.A,CD,B
2.C,A DB
3B,CDA
4 DAC,B

Options :

22742753629. 1
22742753630. 2
22742753631. 3

22742753632. 4

Question Number : 133 Question Id : 22742713764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A,CD,B
2CADB
3.B,C,D,A
4DACB

Options :

22742753629. 1
22742753630. 2
22742753631. 3
22742753632. 4

Question Number : 134 Question Id : 22742713765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange in proper sequence the steps followed for isolation of DNA from bones:
A Drilling

B. Cleaning of the bone

C. Lysis

D. Decalcification

E. Percipitation

Choose the correct answer from the options given below:

1.C,D,A,E B
2D BACE
3 BADCE
4 ABCED

Options :

22742753633. 1
22742753634. 2
22742753635. 3
22742753636. 4

Question Number : 134 Question Id : 22742713765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. fadeiig

E. 3faeiuu
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1.C,D,AEDB
2D, BACE
2 BADCE
4 AB CED

Options :

22742753633. 1
22742753634. 2
22742753635. 3

22742753636. 4

Question Number : 135 Question Id : 22742713766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The correct order of analysis of petrol using T.L.C method

A Activation of TL.C plate

B. Development & separation of petrol spot inside T.L.C chamber
C. Application of Petrol spot to the TLC plate

D. Visualization of developed T.L.C plate by using spraying reagent
E. Calculation of Rf value

Choose the correct answer from the options given below:

1.C,B, E DA
2A CBDE
3.B,C,ADE
4 E,B,D,C A

Options :

22742753637. 1
22742753638. 2
22742753639. 3
22742753640. 4

Question Number : 135 Question Id : 22742713766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



31 ua. 1. fafy &1 Ugiv od §U USId o faveivur & Ul 3 H ogafeyd SHifert -
A Tl T . wie @1 9ihgul

B. 71 Ud. 1. 9var & Wik USId & Yedl §91 a4l 3D §YDH g1

C. @1 d. I wie # Ul Yed & TR

D. PR HH&HS & WaN &R fadid 3 Ud 91 wic &I uiiao

E. 3R U% HH & GdHaH
g feu 7 fadmedl # 9 U1 TR &1 99 BIfaU -

1.C,B,E,D A
2A CBDE
3. B .G A D E
4 E,B,D CA

Options :

22742753637. 1
22742753638. 2
22742753639. 3
22742753640. 4

Question Number : 136 Question Id : 22742713767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Pyrolysis gas chromatography is the most suitable techniques used to distinguish most paint binder formulation
Statement [I: Infrared spectroscopy can also be used to distinguish paint binder formulations

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement | is false
4 Statement | is false but Statement [l Is true

Options:



22742753641. 1
22742753642. 2
22742753643. 3

22742753644. 4

Question Number : 136 Question Id : 22742713767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

P | 310 S0 19 aUcEe! e feaiom SEun § UNG &3 &1 Jalis Juded Tiar 8

YA |I; Havad W gaidl off 1an Ue dide &g H f6ar o Oad 8

SRIGd BYF & AP 3, o 6T T8 ot § ¥ ol v’ &1 989 Sivl ;

1.7 IR T

2 BYF | AR I GHf AT B

3. YT | T &, e By 11 3T §
4 Y| 3T 6, A1 HE 1 9T §
Options :

22742753641. 1
22742753642. 2
22742753643. 3

22742753644. 4

Question Number : 137 Question Id : 22742713768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: All three dimensional footwear impressions should be casted with dental stone

Reason R: Dental stone sets are much harder and have higher compressive strength, retain greater detail
In the light of the statements, choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both Aand R are correct but R is NOT the correct explanation of A
3. Ais true but R is not false

4 Ais false but R is true

Options :

22742753645. 1
22742753646. 2
22742753647. 3
22742753648. 4

Question Number : 137 Question Id : 22742713768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e A 0 - T BT 1 - o U BTl o e

BRI R: TR T o e BOR B 5, 37 SR Tl Yo U Wil ¢, d 9ga A1 SR faaRw ¢7Rd #¥d 51
TWIE S & 3l H, Fid fou 7 fowedl 5 9 01 IR 31 9 oy

1 AFRREHI WU IRR ADI 98 & 3

2 ASR REHI 30 § Tl R A D T8 H T 6

3 ATAE TSR 3A R
4 ANET s TR A 5

Options:

22742753645. 1
22742753646. 2
22742753647.3

22742753648. 4



Question Number : 138 Question Id : 22742713769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: The arrangement of the writing on the paper may be as individual as the writing itself.
Statement |I: Margin, spacing, crowding, insertions and alignment are personal habits.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement 1| are true
2_Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false
4 Statement | is false but Statement Il is true

Options:

22742753649. 1
22742753650. 2
22742753651. 3

22742753652. 4

Question Number : 138 Question Id : 22742713769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753649. 1
22742753650. 2
22742753651. 3
22742753652. 4

Question Number : 139 Question Id : 22742713770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: One of the types of brain death is cortical o cerebral death where there is intact brain stem

Statement I It produces a vegetative state in which respiration continues, but there is total loss of power of perception by the senses
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

22742753653. 1
22742753654. 2
22742753655. 3
22742753656. 4

Question Number : 139 Question Id : 22742713770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742753653. 1
22742753654. 2
22742753655. 3
22742753656. 4

Question Number : 140 Question Id : 22742713771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are fwo statements: one is labelled as Assertion Aand the other is labelled as Reason R

Assertion A Leuco crystal violet, Amino black. Diamino benziding (DAB), Luminol and Fuchsin acid reagents used to enhance Impressions.
Reason R: These methods can enhance only non-bloody footwear Impressions.

In the light of the statements, choosa the correct answer from the options given below:

1. Both Aand R are correct and R is the correct explanation of A

2. Both Aand R are correct but R s NOT the correct explanation of A
3. Ais correct but R is not correct

4 Ais not correct but R is correct

Options:

22742753657. 1
22742753658. 2
22742753659. 3

22742753660. 4



Question Number : 140 Question Id : 22742713771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R A: T R e, ) i, ST st (DAB), TRl o, TGk oy ofensen il O i 0T g
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3 AR, TR 90 2

4 AYT 3, Wi R

Options:

22742753657 1
22742753658. 2
22742753659. 3

22742753660. 4

Sub-Section Number : 2
Sub-Section Id : 227427539
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713772 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the below passage and answer the following questions

Person Awas caught while frying to board the fight. He was carrying & suicase in which was & plastic explosive packed in  tiin box. His
another friend Person B sucessfully bombed a passanger frain. The explosive material was purchasd from same seller which was hidden inside
a grave yard. The residue and other materials were collected, packed and sealed in a metal containers for analysis and sent to FSL. A bumed
dead body was also found near explosion which was examined for further examination.

Sub questions

Question Number : 141 Question Id : 22742713773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Foot print found near grave yard in moist soil can be lifted by using

1. Photographic paper
2. Transparent tape

3. Plaster of Paris

4 Charcoal powder
Options :
22742753661. 1
22742753662. 2
22742753663. 3

22742753664. 4

Question Number : 142 Question Id : 22742713774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which material should be collected from burned dead body for individual identification

1. Burned shoes

2 Teeth

3. Damaged wrist watch
4 Burned cloths



Options :

22742753665. 1
22742753666. 2
22742753667. 3
22742753668. 4

Question Number : 143 Question Id : 22742713775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fingerprint found on the plastic tiffin box can be developed by which method of fingerprint development

1. Gentian Violet Method
2. Amido Black Method
3. Gun Blue

4. Cyno-Acrylate Method
Options :
22742753669. 1
22742753670. 2
22742753671. 3

22742753672. 4

Question Number : 144 Question Id : 22742713776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The soil recovered from shoes of person Aand B can be analyzed for trace elemental composition using which of these instruments:

1.HPTLC
2. HPLC
3 NAA
4 GC

Options:

22742753673. 1



22742753674. 2
22742753675. 3

22742753676. 4

Question Number : 145 Question Id : 22742713777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The fiffin box containing plastic explosive recoverd from person ‘A was scanned at entry gate of Airport by which of these instrument

1. Stereoscopic Microscope

2.V5C 8000

3. Dual energy x-ray system (Normally 3 colour)
4. Atomic Absorption Spactrometry

Options :

22742753677. 1
22742753678. 2
22742753679. 3

22742753680. 4

Question Id : 22742713772 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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R0 O S T el i U 7 o fo Ui, 0 6 0 vt U0 0t 4 1) TGl o 4 4 ol 7 9
o s o ot o o e g e v

Sub questions



Question Number : 141 Question Id : 22742713773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T % () RO T T T o o a5 90 (. o e et s ) 01 vt v (e o o
i o7

1. TCHT® ST o
R

3 TR S U

4 RO T (T8)
Options:
22742753661. 1
22742753662. 2
22742753663. 3

22742753664. 4

Question Number : 142 Question Id : 22742713774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot oafd @1 Tear & o oren fou 10 g0 TR € @ ward (amnh) & 9afed (wo) foa s

1. 971 gU S
2.2ld

3. & gIY-us!
4. S gUDBYS
Options:
22742753665. 1
22742753666. 2
22742753667. 3

22742753668. 4



Question Number : 143 Question Id : 22742713775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Qe o foftp a1 o vy (R ) o fo o o g (ofvor) ot o g okl (el o o o 2

1 Wil ae i
) e e
REE|

§ TR R

Options :

22742753669. 1
22742753670. 2
22742753671.3

22742753672. 4

Question Number : 144 Question Id : 22742713776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e A 3R B 1 8 9T 1 T T () o T 0 T T et o el o T o e & o o e 2

REL G LGE
PRGILGE

3. 418Y

LY

Options :
22742753673. 1
22742753674. 2
22742753675. 3

22742753676. 4

Question Number : 145 Question Id : 22742713777 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e AT TG g3 e o Ieeh T 3 U oflt ek TG A G g TR W o 0 o Ui 1 0 40 oo T o7

2 3T 8000
3, GO 0 of .2 e (e 3 17
4. i TouT e

Options :

22742753677. 1
22742753678. 2
22742753679. 3

22742753680. 4

Sub-Section Number : 3
Sub-Section Id : 227427540
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713778 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the below passage and answer the following questions

‘A was sentenced to prison, and when being processed was accused of being B'on he basis of his physical appearance and anthropological
measurements

B was called from the prison, serving a lfe sentence for murder. The appearance of two men was striking and thelr physical attributes were
identical. Finger prints were In an attempt to determine identity and did not match. It is spaculated that they may have besn the twins separated
at birth and had never met untl this fateful day

Sub questions



Question Number : 146 Question Id : 22742713779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the most widely used method of identification and individualization worldwide?

. DNA
. Fingerprints
ris

. Biometric

L

=N

Options :

22742753681. 1
22742753682. 2
22742753683.3

22742753684. 4

Question Number : 147 Question Id : 22742713780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The fingerprints of the two persons were not matching because -

. Fingerprints do not change throughout life

. No two person have same fingerprints
_|dentical twins may have same fingerprints

. Non-identical twins may have same fingerprints

L

F =N

Options :

22742753685. 1
22742753686. 2
22742753687. 3

22742753688. 4

Question Number : 148 Question Id : 22742713781 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following levels of information incorporated into the comparison process of fingerprints
A_ Evaluation

B. Comparison

C. Analysis

D. Verification

Choose the correct answer from the options given below:

1.B,C,AD
2CBAD
JABCD
4 D,C BA
Options :
22742753689. 1
22742753690. 2
22742753691. 3

22742753692. 4

Question Number : 149 Question Id : 22742713782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are shortcomings of anthropometrical system of identification:
A Establishment of full face / profile scale photography

B. Limited to adult

C. Significant differences in measurements

D. Portrait Parle

E. Measuring devices were laborious to use

Choose the correct answer from the options given below:

1. A B&Conly
2.B,C&Donly
3.B,C &Eonly
4 A, C&Eonly
Options :

22742753693. 1
22742753694, 2
22742753695. 3

22742753696. 4

Question Number : 150 Question Id : 22742713783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not considered as a broad area of the criminal justice system?

. Scientific analysis
. Law enforcement
- Research

. Legal Proceeding

B B e

Options :

22742753697. 1
22742753698. 2
22742753699. 3
22742753700. 4



Question Id : 22742713778 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 3T
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Options :

22742753681. 1
22742753682. 2
22742753683. 3

22742753684. 4

Question Number : 147 Question Id : 22742713780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&l AfGqdl & SRy &1 i el g o it
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Options :

22742753685. 1
22742753686. 2
22742753687. 3

22742753688. 4

Question Number : 148 Question Id : 22742713781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A THID
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D. 9414+
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1.B,C,A D
2 C BAD
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4 D C B A

Options :
22742753689. 1
22742753690. 2

22742753691. 3



22742753692. 4

Question Number : 149 Question Id : 22742713782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753693. 1
22742753694, 2
22742753695. 3

22742753696. 4

Question Number : 150 Question Id : 22742713783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742753697. 1
22742753698. 2
22742753699. 3

22742753700. 4



